



Nimi: \_\_\_\_\_

Päivämäärä: \_\_\_\_\_ Pisteet: \_\_\_\_\_

$$\left(\frac{2}{5}\right) - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{4}\right)^0 + \frac{3}{5} =$$

$$\left(\frac{1}{2}\right)^2 + \frac{3}{4} =$$

$$\left(-\frac{3}{4}\right) - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{2}{5}\right) + \frac{1}{3} =$$

$$\left(-\frac{2}{5}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{4}\right) - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{3}{5}\right)^2 + \frac{1}{5} =$$

$$\left(\frac{2}{5}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{3}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{3}{5}\right) - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{4}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{2}\right)^2 - \frac{3}{4} =$$

$$\left(-\frac{3}{5}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{3}\right)^2 - \frac{2}{5} =$$

$$\left(-\frac{1}{2}\right) + \frac{3}{4} =$$

$$\left(\frac{1}{6}\right)^3 - \frac{1}{4} =$$

$$\left(\frac{1}{2}\right) + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{3}{5}\right)^3 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{5}\right) + \left(-\frac{1}{2}\right) =$$



Nimi: \_\_\_\_\_

Päivämäärä: \_\_\_\_\_ Pisteet: \_\_\_\_\_

$$\left(\frac{2}{5}\right) - \left(-\frac{1}{6}\right) = \frac{17}{30}$$

$$\left(\frac{1}{4}\right)^0 + \frac{3}{5} = \frac{8}{5} = 1\frac{3}{5}$$

$$\left(\frac{1}{2}\right)^2 + \frac{3}{4} = 1$$

$$\left(-\frac{3}{4}\right) - \left(-\frac{2}{5}\right) = \left(-\frac{7}{20}\right)$$

$$\left(\frac{2}{5}\right) + \frac{1}{3} = \frac{11}{15}$$

$$\left(-\frac{2}{5}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{141}{250}\right)$$

$$\left(-\frac{3}{4}\right) - \left(-\frac{1}{5}\right) = \left(-\frac{11}{20}\right)$$

$$\left(-\frac{3}{5}\right)^2 + \frac{1}{5} = \frac{14}{25}$$

$$\left(\frac{2}{5}\right)^3 - \left(-\frac{1}{2}\right) = \frac{141}{250}$$

$$\left(-\frac{1}{3}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{22}{45}\right)$$

$$\left(-\frac{3}{5}\right) - \left(-\frac{3}{5}\right) = 0$$

$$\left(-\frac{1}{4}\right)^2 - \left(-\frac{3}{4}\right) = \frac{13}{16}$$

$$\left(-\frac{1}{2}\right)^2 - \frac{3}{4} = \left(-\frac{1}{2}\right)$$

$$\left(-\frac{3}{5}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{6}{25}\right)$$

$$\left(\frac{1}{3}\right)^2 - \frac{2}{5} = \left(-\frac{13}{45}\right)$$

$$\left(-\frac{1}{2}\right) + \frac{3}{4} = \frac{1}{4}$$

$$\left(\frac{1}{6}\right)^3 - \frac{1}{4} = \left(-\frac{53}{216}\right)$$

$$\left(\frac{1}{2}\right) + \left(-\frac{3}{5}\right) = \left(-\frac{1}{10}\right)$$

$$\left(-\frac{3}{5}\right)^3 - \left(-\frac{2}{5}\right) = \frac{23}{125}$$

$$\left(\frac{1}{5}\right) + \left(-\frac{1}{2}\right) = \left(-\frac{3}{10}\right)$$